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5-pn i
5-py
Lowluly | Sunpp (2021p.)
Ne Ubfulim ik, .
Yumbnulilp mulkp | dpujnp (2021p.) (Upprunnwuqup
(©2u3s)
wnuiguiply)
] Puqhuuyhtt uwljught (wpwtg UUZ-h) T.. npud/fad 147.0 147.0

" |Pughuught vwwght (Gkpunyug UU2-) i npud/fad 176.4 176.4
‘Lwfunpnnn mwwphubphg wju) hwpqupluyhtt wuph wknutnpuws vwljuguh ,

2. AT u/pud . .
Ubkdnipinit (wnwbg UUZ-h) npu/hu 0.0 0.0

3. |Pwughuuyhti vwwuquh unuény £ogpunynn pudutdwup AL, % 60% 60%

4 Pwugqhuughtt vmuquh LEjuputibpghwgh vwljugutph thnthnpunipyudp &ogpuyny AEP, % 13% 13%
pudubidwup

5. |Pughuwyht vwuquh &ogpundwl skipwplyny pudutdwu ANAP, % 27% 27%
Uwbipuwsw opudunuljupupdut swjuibpny yuydwbwynpjws pughuuyght

6 uwluglh Logpindwh Ukdnipinip (wpwhg GU2-h) o nnud/jud 1.191 2176

b bi

Uwitpwswju gpudwnujupupdut swjwibpny] yquydwiwynpjus pughuwgh

U/pud -1. <
uwfugqh Logpuidwt Ukdnipniip (Whpunyju UU2-u) npund/j 1430 2611
Zwpqupuyhtt nupjut twnpnnn nupju dwbpuswju gpudunujupupdut b

D)|opwhtrwgdw (YEnunueptph dwppudwi) swnwnipjniutbph dwnnigdwt gnidwpuyght Tia npud/fud 150.00 150.00
uwfught (wpwig GU2-h)

Zwpqupuyhtt nupjut twnpnnn nupduw hwdwp wdpugplus duipusua

2 A\ ujln pud 128. 128.

) opuimnuljupupdub pughuwghts Swyug °ED e 8.00 8.00

3) Zupyupluyhtt nmupyu bwpunpnnn 12 wdhubph hwdwp uyuennubpht dwbpuswa Vi it Jud 12973 131.17
onudwnwlupupdwb huunwgh Swufuy

4 Zupyuipluyhtt inupyw hwdwp wdpugpdus dwbipusuje gpudwnulupupdui Vi it Jud 133.00 133.00
puighuyhis surup
Uwtipusw opudwinuljupupdwt swjwthph nmwnwimdibpny wuydwiwynpjus

5)|ihgtuquynpyus wudh b pudwtnpnutph dhol rhuljtiph pupjunidp hwpyh weting 0.7 0.7
gnpdutlhg
Unuény wuydwbwnpjws pughuughtt umljugquh £ogpindwit dkdnipyniip (wnwig - 4784 4,940

; UUz-h)

‘ Unuwény wyuydwbwynpjws pughuuyhtt uvwjuguh £ogpudwt dbdnipyniip (Wkpunjuy — 5741 5929
UU.z-1)

D]zwodupluyhtt mwupdu hwdwp unuéng wuydwbwynpdus ogpundwt gnpdulhg KI; 1.054 1.056

2) Zupyupluyhtt nmwpdu bwjunpynn nmupyuw hwdwp unudny yuydwbwdnpdus K, 1.049 1.049
&ogpundwli gnpdwljhg
Puighuuyhtt vwljugquh £ogpundwit hwynh tbphuyugdut wludub twhnpynn (kpt

3)|htwpunp sk, wmyw gput bwjunpnnn) wdujw (wénqujub’ phpughy upgu 15, 100.5 100.7
ulqphg) uyguennuljwi qubkph hugkpu
hEyupwtiutpghuyh vwjuqutph thnthnunipjudp yuwyjdwiwnpjuwsd puqhuugh
uwljuglh &ygpuntut tkdmpynitp (wmubg GU2-h) e 0.828

8.
EEywupukutpghuyh uvwjuqubph thnthnun pjudp wuwyjdwbwynpywsd puqhuwgh
U/pud -0. -0.994
uwlugqh fogpundwt UEdsmpiniup (tbpunjuy UU2-0) o/ s L

1 Zwpqupluyhtt nupdw hwdwp hEjunputiubpghugh vwlwgqubtph hinthnjumpjudp KEP. 0.96 0.96
wuydwbwnpjus ogpundwt gnpdwlhgp ! ’ ’
Zwoywpljughtt nupnud gpudwnuljupupdui b 9gpuhbnugudwt (Yinunueptph dwppuwi)

2) Swnwynipiniiikph dwnnigdw Logpuws uvwljuqubph nidh dke dinukynt opyw npnipjudp EP. npuu/ 32411 32374
qnpdnn LEjnputukpghugh vuluqubph hhdw Jpu hwpdupljus thghiquignpjus wudht ' qqmd : :
Uwnwupupyng fEyuputitpghugh dhght hor]ws vuljught
Zwpqupluyht (wuydwbwgpuyh) wpwghtt mupyuw uljqpnid gnpédnn 0

3)|bblinpuititpghugh vwljmgikph hhwh qpu hwpyuplud (hgkbquujnpws widhi EP, ?;‘{m s | 3384 33.841

n
Uwunwlwpwpyng kjupukibpghugh dhght §ondws uwljughip
9. puyhtt hwdwlupgh wy tyuwnwlutpny oginugnpénithg b fudbine gnipp nenglwl ARgy | g ppund 50.987 50744
tyuunulny dwnwjupunpbnig unwugynn jpugnighs hwunyp (wpubg UU2-h)
puyhtt hwlwlupgh wy tywnwlutpny oginugnpdnithg b udbine gnipp nenglwl
tyuinulny dwnwljwpupkinig uinugyny jpugnighy hwunypnd wuydwbwynpws npud/fad -0.383 -0.397
10 uwlugqh Logpudwh Ukdnipjniup (wewbg GUZ-h)

’ Qnuyhtt hwdwlupgh wy tyuwnwlubpny oginugnpénivhg b judbint gnipp nonguw

tyunulny dwnwupuptynig vnwgynn jpugnighy hwunypny wuydwbwynpus npud/fud -0.460 -0.476

uwlugqh fogpundwts Ukdnipiniup (bbpunjuy UU2-)




5-p wupp

5-pp
Lowluly | Sunpp (2021p.)
Ne Ulijubmdllip nuftikp | dpuwnp (2021p.) (Upprunwluqup
(2uss)
wnwiguipnly)
Pnnp gnpénubpny wuydwwynpjusd pughuwyhtt vwljugih Logpudwt UEdnipniut - 2.402 1.539
wnwug UUZ-h (nnn2+wnnn6+wnnn7+nnn8+wnnn 10)
11.
Pnnp gnpénubpny wuydwiwynpjusd pughuwght vwljugih Logpudwt Ukdnipniut —— 2883 1.847
ukipunyju UUZ-u
Zwpqupuyhtt nupju dwipuswi gpudwnuljupupdut b gpuhtnugdu
(YEnuuueptph dwppuwt) swnwynipnibttph dwnnigdub £ogpudws gnidwpuyh npuu/fad | 149.402 148.539
» uwlwghlitt’ wpwig UUZ-h (nnnl+nnn11) T
. Zupyuplughtt mupju dwipuswiu gpuiunuljupupdwi b gpuhbtnugdui i
(YEnuuueptph dwppuwt) swnwynipnibttph dwnnigdub £ogpudus gnidwpuyh npuu/fad | 179.283 178.247
uwljughti’ kpunyuy TU2-4
Zupyupluhtt mupju dwbipuswh ogpuduwnwljupupdwi b 9gpuhbnugdut
(YEnuwueptph dwppdw) swnwynpiniittph dwinnigdwb £ogpunjus qgnidwpuyht npuad/pad 0.0 -1.461
12.1 uwlughh’ htinwgu nuph nknwthnjeyng dwu (wewbg UU2-])
" zwpywpyuyht nwpyw dwipuswi gputunuupupiui b gpuhknugdwh
(YEnuweptph dwppdwi) Swnwympniuttph dwnnigdwy £ogpunus gnidwpuyhte npud/pad 0.0 -1.753
uwljuqih’ hknwqu wuph nkquhnju]ng dwu (kpunjuy UU2-1)
Zupquplughtt nupju dwbpuswh gpuiwnuljupupdui b gpuhnwugdui
13. |(tnuuepkph dwppuwl) swowym pymbtkph dunnigdui &yqundus’ 2042-h §nnquhg npud/fud 150.00 150.00
wwhdwinnn gmuwpuht vwlught’ wowbg UU2Z-h
D]zwoqupluyhtt mupdu dwipuwswhn gpudwnuljupupdwi vwljught (wnwtg UUZ-h) npud/pud 127.50 127.50
2) Zwpqupuyhtt nupju dwipuswiu gpuhbinugdwt (YEnunueptph dwppdwin) - 2250 2250
Swnwnipjut dunnigdut vwljught (wnwig UU2-h)
Zupquplughtt nupyu dwipuswh gpuiwnuljupupdui b gpuhnwgdu
14. |(yEnuueptph dwppuwl) swowympymbtkph dtunnigdwi &ygundus’ 2042-h §nnuhg T; npud/fud | 180.00 180.00
wwhdwin)nn gmuwpught vwlught tkpunyu GU2-4
1 él)llgllulpllul]bh nupu dwbpuswh gpudunulupupdwt vwlught (bkpunyu UUZ- - 153.00 153.00
2) Zupyupluyhtt mwupdu dwbipuswhi opuhbnugdw (Yenunwentph dwppdwi) — 2700 2700
Swnwnipjul twnnigdut vwljught (hpunju) UUZ-u)
15. Jzwoqupluyht mupju dbswswu gpudwnujupupduwt vwljught (wpwg UUZ-h) T npud/pad 30.00 30.00
16. |Zwoqupluyht mwpyu dkdwswu gpuldwnujupupdwt uvwjught (bkpunju GU2-b) T npud/fud 36.00 36.00
17. |Zwpqupyuyhl mwpyu dkdwswiu gpuwhtinugdut nwjwught (wpwig GU2-h) T | npud/ud 15.00 15.00
18. |Zwpqupyuyht mupyu vkdwswju gpwhtnugiut uwjught (Whpunyu) UGU2Z-b) T | ppud/pud 18.00 18.00
«Guipkl Malhpguih wijut Gplwh dknpnynihnkis thul pupdubnhpuljui 3
19. ; 1 9.184
pUykpnipjul wanpghnbyw opkph hbmugiwh vwljwghl (wmubg GU2-h) T | npud/pud | 9.193
20. «Gupkl Ydhpguth whjwt Gphwth dknpnunihinkis thul pupdubnhpuljuh T3Wi npul/fud 11.031 11.020

puyEpmipjut unnpghniyw gptiph hipwgdwt vwjwght (bEpuryuw) GU2-)




